Tl TRUTCTeR AT

AN F.R0vR|0L3
Tl ShIY W7l =] 1650308099903
TAER faerT
T YR AT 09393 F Y =] TSI ElEdl
3,498Y%,5499|09 99%,90Y,%95|00 999,309,%00]00 9¥0,000|00 90,%03,8%R|09
T Sh1Y ¥l TSI 9850308038303
TAER faerT
T TR 3T 200293 FHI A™ 1] TSI TRt
( 319,34R,000[00 ( 319,343,000[00 (
fafere gersh 98=030403¥30y
TAER foerT Elcal
T Sl 3T 2003|W3 T A 1] TSI fafary =ment T
( ¥,004 &R %00 3,000,000|00 Q,900,000|00 §3Y,88%|oo0 Q90 000|00
ST ASHIE 185030808830
TAER fqerT
T kT AT 09393 F Y LS TSI ekl
( 3,833,214/93 3,833,000/00 ( 29ul\03
=] A1 1850302093903
FH A
T SRl 3T TRERAE 3 =] = ek
33%,050|3% 994,280,800l00 | 998,R1%,E50|3Y 19%,519,18 318% ¥E3, 43|90
TSI M 4€5030202330%
FHA A
T SRl 3T TERAE 3 TSI = ek
Y3,053J00 3%,453,000]00 3%,4R5,%95|00 0,083, GEJ00 TYEY,08T|00T




3 = ekl ot ot ElEa]
198,39%,850|33 192,38R,80T(8Y 1,2 3R,009|90 &Y3,800[00 ©9%,5&Y|0o ¥&3,438|0o
3%,4R%,R95|00 3%,3919,2 58|00 ?50,83300 o T8y, 00000 BYEY,085|00T
1YY, 503,48 513% 143,4%0,68%[8% 2,29R,%33|wo &Y3,80000 9,84%,58Y|00 T100,439/30T




ie]

D

fara=m ] =4 ek, Rt 3 fRel | SRfRed
IR & €, %Y, QUYIEY
.91 A< ¥,800,000|00
g 23,3%¢§,000]|00 Y©3,800|00 foRat
TeTSiATSdt ,430,433]00 ©98,58YJoo ot
tﬁ.g. §&,000[00
Yl fed e 93,09Y,000|00 9o, 000|000 foRar
AT JReET RYR,R00]00

19%,39R,895|8%

1,885,8%Y|oo




ST

ferer EEGiER AR, fRs X fRedl | iR
AL < 219,819,938 |00
ISAGKS] 9,922, 4ES |00 (
T ok 9,5%5,35R|00 TYY,000|00 s
ST AThER] R,900,000|00
qMAF g Y00, 000|000 (

3%,k8\9,RTg|oo

T YY,000|00




